[bookmark: _GoBack]KẾ HOẠCH NHẬP ĐIỂM CÁC TỔ THỐNG NHẤT-HKI 2017-2018
	Tháng


Môn học
	
       08/2017
	09/2017
	10/2017
	11/2017
	12/2017

	TOÁN
	-M:
 K10: 
 K11:           ; K12:
	-M: 
K10: 25%
K11: 25%; 
K12: 25%
-15': 
K10: 1  cột  ; 
K11: 1 cột
K12: 1 cột   
-1t TT: K10:           K11:      ; K12:
	-M: 
K10: 50%
K11: 50%; 
K12: 50%
-15': 
K10: 1  cột  ; 
K11: 1 cột
K12: 1 cột   
-1t TT: K10:           K11:      ; K12:
	-M: 
K10: 75%
K11: 75%; 
K12: 75%
-15': 
K10: 1  cột  ; 
K11: 1 cột
K12: 1 cột   
-1t TT: K10:           K11:      ; K12:
	-M: 
K10: 100%
K11: 100%; 
K12: 100%



	LÝ
	-M:
 K10: 0
K11: 0          ; K12: 0
	-M: K10: 25%                
K11: 25%            ; K12: 25%   
-15': K10: 1cột            
K11: 1cột; K12: 1cột
-1t TT: K10: 0
 K11: 0, K12: 0
	-M: K10: 50%              
K11: 50%          ; K12: 50%      
15': K10: 1cột            
K11: 1cột ; K12: 1cột
-1t TT: K10: 1cột                K11: 1cột, K12: 1cột  
	-M: K10: 75%    ; K11: 75%
K12: 75%  
-15': K10: 1cột                
K11: 1cột, K12: 1cột   
-1t TT: K10: 1cột            
K11: 1cột ; K12: 1cột   
	-M: K10: 100%  
K11: 100% 
K12: 100%   
-1t TT: K10: 0           K11: 0, K12: 0                
THI HKI

	HÓA
	-M: 
K10: 
K11:            K12:
	-M: 
K10: 25%                K11: 25%; 
K12: 25%   
-15':
K10: 1 cột            
K11: 1 cột 
K12: 1 cột
-1t TT: 
K10:        
K11: 
K12:  
	-M: 
K10: 50%                K11: 50%; 
K12: 50%   
-15':
K10: 1 cột            
K11: 1 cột 
K12: 1 cột
-1t TT: 
K10: 1 cột       
K11: 1 cột           K12: 1 cột
	-M: 
K10: 75%                K11: 75%; 
K12: 75%   
-15':
K10: 1 cột            
K11: 1 cột 
K12: 1 cột
-1t TT: 
K10: 1 cột       
K11: 1 cột           K12: 1 cột
	-M: 
K10: 100%                K11: 100%; 
K12: 100%   
-15':
K10:             
K11:  
K12: 
-1t TT: 
K10:        
K11: 
K12: 

	VĂN
	-M:
 K10: 
 K11:           ; K12:
	-M: K10: 25%     ; K11: 25% ; K12: 25% 
-15': K10:  1 cột              ; K11:  1 cột        ; K12:   1 cột
-1t TT: K10:  1 cột      ; K11:  1 cột         ; K12:  1 cột
	-M: K10: 50%
 K11:  50%         ; K12: 50%
-15': K10:    1 cột                ; K11:  1 cột          ; K12: 1 cột          
-1t : K10:  1 cột         ; K11: 1 cột        ; K12:  1 cột
	-M: K10:  75%              ; K11: 75%           ; K12:   75% 
-15': K10:  1 cột                          ;K11:  1 cột ; 
K12: 1 cột                         
-1t TT: K10: 1 cột       ; K11: 1 cột          ; K12:  1 cột 
	M: K10:   100%             ; K11: 100% ; 
K12:   100%            
THI HKI

	ANH
	-M: 
K10: 15%
K11: 15%
K12: 15%
-15': 
K10:     
K11:     
K12: 
-1t TT: 
K10:
K11:     
K12:   
	-M: 
K10: 25%
K11: 25%
K12: 25%
-15': 
K10: 1 cột
K11: 1 cột
K12: 1 cột
-1t TT: 
K10:  
K11:   
K12:   
	-M: 
K10: 50%
K11: 50%
K12: 50%
-15': 
K10: 1 cột
K11: 1 cột
K12: 1 cột
-1t TT: 
K10:  
K11:      
K12:  
	-M: 
K10: 75%
K11: 75%
K12: 75%
-15': 
K10: 1 cột
K11: 1 cột
K12: 1 cột -1t TT: 
K10:
K11:       
K12:   
	-M: 
K10: 100%
K11: 100%
K12: 100%
-15': 
K10:
K11:
K12:
1t TT: 
K10:
K11:       
K12:   

	SINH
	-M:
 K10: 
 K11:           ; K12:
	-M: K10: 20%
 K11:  20%         ; K12: 20%
-15': K10:                ; 
K11:                    ;     K12: 1 cột

	-M: K10: 50%
 K11:   50%        ; K12: 50%
- 15’: K10 : 1 cột ; K11 : 1 cột ;
 K12 :

1t : K12:              ; 
	-M: K10: 80%
 K11: 80%         ; K12: 80%
-15':     K12: 1 cột
-1t TT: K10:  1 cột     ; 
K11: 1 cột ; K12: 1 cột         
	M: K10:  100%             ; K11: 100% ; K12: 100%
THI HKI

	CÔNG NGHỆ
	-M: 
K10: 0
K11: 0
K12: 0 

	-M: 
K10: 20%
K11: 25%          ; K12: 25%
-15':
K10 : 1 cột K11: 0
K12: 0

	-M: 
K10: 50%
K11: 50%          ; K12: 50%
-15': 
K11: 1cột, K12: 1cột                 
 -1t TT: 
K10 : 1 cột K11:1cột ; K12: 0
	-M: 
K10: 80%
K11: 75%         ; K12: 75%
-15': 
K11: 1cột, K12: 0
-1t TT: 
K10 : 1 cột K11: 1cột, K12: 1cột         
	-M:
K10: 100%
K11: 100% 
K12: 100%
-15': 
K10 : 1 cột K11: 0           ; K12: 0  
THI HKI

	SỬ
	-M:
 K10: 0
 K11: 0      ;  
 K12: 0
	-M: 
K10: 0
K11:  0
K12: 0
-15': 
K10:  0         
K11:   0           
 K12: 1 cột
-1t : 
K10: 0
K11:    0        
K12:  0
	-M: 
K10: 50%
K11:   50%
K12: 70%
-15': 
K10:    1 cột
K11:    1 cột        
 K12: 0
-1t : 
K10:0
K11:    0           
K12:  1 cột-KHTN
	-M: 
K10: 80%
K11: 80%
K12: 80%
-15': 
K10:  0
K11:  0
 K12: 1 CỘT
-1t : 
K10: 1 cột
K11:   1 cột         
K12:  0
	-M: 
K10: 100%
K11: 100%  
K12: 100%
-15': 
K10:  0           
K11:   0        
 K12: 0
-1t : 
K10: 0
K11: 0 
K12:   0

	ĐỊA
	-M: 
K10: 0
K11: 0
K12: 0

	-M: K10: 15%;
 K11: 15%; 
K12:  15%
-15': K10: 1 cột


	-M: K10: 30%
 K11: 30%;
 K12: 30%
-15': 
K11:  1 cột
K12:  1 cột
- 1 tiết: K10: 1 cột

	-M: K10: 60%
 K11: 60%          ; K12: 60%
-15': K10: 1 cột
-1 tiết: K11: 1 cột
K12: 1 cột
	-M: K10: 100%         K11: 100%
K12: 100% 
THI HKI

	GDCD
	-M: 
K10: 0
K11: 0
K12: 0
	-M: K10: 20%
 K11: 20% 
K12: 20%
15': K10:          
K11:  
K12:  1 cột
	-M: K10: 50%
 K11:  50%
 K12: 50%
15': K10:   1 cột   
K11: 1 cột
1t : K12: 1 cột  
	-M: K10: 70%
 K11:       70%    ; K12: 70%
1t : K10: 1 cột
K11: 1 cột
	-M: K10:   100%       K11: 100% 
K12: 100% 
THI HKI

	TIN HỌC
	-M: 
K10: 0
K11: 0
K12: 0
	-M: K10: 25%
 K11:  25%  ; K12: 25%
15': K10: 1 ; K11:  1; K12: 1
	-M: K10: 50%
 K11: 50%  ; K12: 50%
1t : K10: 1  ; K11: 1;  K12: 1
	-M: K10: 75%
 K11:75% ; K12: 75%    
15': K10: 1, K12: 1
1t : K10: 1TH ; 
K11:  1TH; K12: 1TH
	-M: K10: 100%     ; K11:  100% ; K12: 100%
THI HKI

	THỂ DỤC
	-M: 
K10: 0
K11: 0
K12: 0
	M: K10: 1 cột                   ; K11:  1 cột
;K12: 1 cột                                   

15': K10:                     ; 
K11:            ; K12:  
	M: K10: 1 cột                                        ; K11:  1 cột  
; K12: 1 cột                                    

15': K10:  1 cột                                      ; K11:  1 cột                             ; K12:  1 cột                   
	15': K10: 1 cột 
;  K11: 1 cột                   
;K12:   1 cột                                 

1t : K10:  ; K11; K12: 
	1t : K10:  1 cột                                   ; K11: 1 cột                    ; K12: 1 cột                   
THI HKI

	GDQP-AN
	-M: 
K10: 0
K11: 0
K12: 0
	M: K10: 50%                     ; K11: 50%
; k12:  50%                                                         
15': K10:                     ; 
K11:            ; K12:  
	M: K10: 100%                                        ; K11: 100%
;K12: 100%
15': K10:                     ; K11  
; K12:                                                           
	15': K10: 1 cột                                                            ; K11:  1 cột                                                                      
; K12:  1 cột                                                                      
1t : K10:                  ; K11: 
 K12:                                                            ;
	1t : K10: 1 cột                                                                             ; K11: 1 cột 
; K12: 1 cột                                                                                                                       
;THI HKI



								BAN GIÁM HIỆU
